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Q1. MCQs 40 marks

20 MCQs of 2 marks each based entire syllabus. All the questions are compulsory

Q2 and Q3. Subjective Questions (Total 40 marks) 20 marks each

Either 5 marks or 10 marks sub questions will be asked with internal options.

In a few exceptional courses/subjects (as per the requirement of the subject) even a 20 mark question
may be asked.

Note:

1. Internal options will be provided in the subjective questions

2. The sub questions in Q2 and Q3 will be asked on multiple modules and based on the maximum
syllabus.

3. Referring to subjective/descriptive answers, students have to write question wise answers using
paper and pen. Answers of Q2 and Q3 along with the sub questions, if any, has to be scanned, by the
student appearing for the said examination, as one document (separate for Q2 and Q3) in pdf format
and has to be uploaded in appropriate location of respective questions of either Google form, MS form
or any other LMS.

4. Additional 15 minutes will be provided for scanning and uploading the answers of respective
questions.

Note to the students:- All Questions are compulsory and carry equal marks .

Q1. If there are 8 nodes in network, we can get __ number of equations in the nodal
analysis.

Option A: |9

OptionB: |8

OptionC: |7

OptionD: |6

Q2. In nodal analysis how many nodes are taken as reference nodes?

Option A: |1

OptionB: |2

OptionC: |3

OptionD: | 4

Q3. In superposition theorem, when we consider the effect of one current source, all
the other current sources are

Option A: | Shorted

Option B: Opened

Option C: | Removed

Option D: Undisturbed
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Q4. Thevenin resistance is found by

Option A: | Shorting all voltage sources

Option B: | Opening all current sources

Option C: | Shorting all voltage sources and opening all current sources

Option D: | Opening all voltage sources and shorting all current sources

Q5. Which of the following is also known as the dual of Thevenin’ s theorem?

Option A: | Norton’ s theorem

Option B: | Superposition theorem

Option C: | Maximum power transfer theorem

Option D: | Millman’ s theorem

Q6. Norton’ s current is equal to the current passing through the
circuited terminals.

Option A: | short, input

Option B: | short, output

Option C: | open, output

Option D: | open, input

Q7. The power that is transferred to the load resistance equals the Thevenin resistance
is

Option A: | Minimum power

Option B: | Zero power

Option C: | Maximum power

Option D: | Equal power
Module - 2

Q8. In Homogeneous differential equation input is equal to

Option A: | Step

Option B: | Ramp

OptionC: |1

Option D: 0

Q9. First order system is defined as :

Option A: | Number of poles at origin

Option B: | Order of the differential equation

Option C: | Total number of poles of equation

Option D: | Total number of poles and order of equation

Q10. In time domain system, which response has its existence even after an extinction
of transient response?

Option A: | Step response

Option B: | Impulse response

Option C: | Steady state response

Option D: | All of the above

Module - 3
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Q11. In two-port networks the parameter h12 is called

Option A: Short circuit input impedance

Option B: | Short circuit current gain

Option C: | Open circuit reverse voltage gain

Option D: Open circuit output admittance

Q12. Which is the correct condition of symmetry observed in z-parameters?

Option A: | z11 =722

Option B: | z11=212

Option C. | z12 =222

Option D: | 212 =721

Q13. If the two ports are connected in cascade configuration, then which arithmetic
operation should be performed between the individual transmission parameters in
order to determine overall transmission parameters?

Option A: | Addition

Option B: | Subtraction

Option C: | Multiplication

Option D: | Division

Q14. Which among the following represents the precise condition of reciprocity for
transmission parameters?

OptionA: |AB-CD=1

OptionB: | AD-BC=1

OptionC: |AC-BD=1

Option D: | None of the above
Module - 4

Q15. The ratio of voltage transform at first port to the current transform at the second
port is called?

Option A: | Voltage transfer ratio

Option B: | Transfer admittance

Option C: | Current transfer ratio

Option D: Transfer impedance

Q16. The ratio of voltage transform at first port to the voltage transform at the second
port is called?

Option A: | Voltage transfer ratio

Option B: | Current transfer ratio

Option C: | Transfer impedance

Option D: | Transfer admittance

Q17. When is the system said to be causal as well as stable in accordance to pole/zero
of ROC specified by system transfer function?

Option A: | Only if all the poles of system transfer function lie in left-half of S-plane

Option B: | Only if all the poles of system transfer function lie in right-half of S-plane

Option C: | Only if all the poles of system transfer function lie at the centre of S-plane

Option D: | None of the above
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Q18. The roots of the odd and even parts of a Hurwitz polynomial P (s) lie on

Option A: right half of s plane

Option B: left half of s-plane

OptionC: | onjw axis

Option D: | on o axis
Module - 5

Q19. The oo is an indication of the precision of the instrument
used in measurement.

Option A: | Arithmetic mean

Option B: | Standard deviation

Option C: | Average deviation

Option D: | Deviation from the mean

Q20. The degree of exactness of a measurement compared to the expected value is
know as:

Option A: | Accuracy

Option B: | Resolution

Option C: | Measurement

Option D: | Precision

Q2. | Solve any four Questions out of Three

5 marks each

Find the value of I
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Find the current I, using Superposition
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Test whether the polynomial /P(s) = §“~t~763-t/659’+2.]s+8 is Hurwitz.

Find Z parameters
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b)'De‘cnninc the driving-point impedance function of a one-port network shown in following

figure
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Q3. | Solve any Two Questions out of Three 10 marks each
] 2 p
— — . . " §+065°1+7s+3 .
A Test positive realness of the function F(s)= - - L//
§C+ 25 +1
Realize Foster forms of the following LC impedance function.-
B b (s? +1)(s° +3)
S)= 2
s(s* +2)(s” +4)
In the network shown below detéfnlinc Vaand Vy.
Q2 vy, 30 vy, j5Q
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